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QUESTION 1

Which of the following indicator setting is required to initialize the subfile? 

A. *IN81 is set on and *IN80 is set off 

B. *IN81 is set on and all other are set off 

C. *IN80 is set *IN82 are both set on and all other are set off 

D. *IN81 and *IN82 are both set off and all others are set on 

Correct Answer: B 

 

QUESTION 2

What is the value of DAYOFWEEK (4)? 

A. 4 

B. Blanks 

C. \\'Wednesday\\' 

D. \\'Sunday Monday Tuesday Wednesday\\' 

Correct Answer: C 

 

QUESTION 3

Which of the following commands set the current library for a job to ABCLIB? (Select two answers.) 

A. CHGCURLIB ABCLIB 

B. WRKLIBPDM ABCLIB 

C. CHGLIBL CURLIB (ABCLIB) 

D. EDTLIBL ABCLIB (*CURRENT) 

E. ADDLIBLE ABCLIB POSITION(*CURRENT) 

Correct Answer: AC 

 

QUESTION 4

When the EVAL statement runs, the following error is occeainally issued: "the target for a numeric operation is too small
to hold the result" Which of the following is the smallest size for TOTALDUE to prevent this error? 
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A. Packed (6,2) 

B. Packed (7,2) 

C. Packed (8,2) 

D. Packed (9,2) 

Correct Answer: C 

 

QUESTION 5

A "divide by zero" error is detected in a program that has the following specified: 

(1)

 The program Status subroutine 

(2)

 File Status subroutine 

(3)

 Resulting Indicator 2 specified on the DIV operation code. Which of the following occurs? 

A. 

Resulting Indicator 2 is set on 

B. 

Program Status subroutine is automatically called 

C. 

The File Status subroutine is automatically called 

D. 

The default RPG exception/error handling routine is automatically called 

Correct Answer: B 
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